H
S
o

o(d @) (rad)
a(d cot(d))

1072

107

A -
1.4

1.05f

Ratio

Ratio

0.95f-{} 0.95H
0.9 0.9

% 2 1 0 1 2 3 23 3
TP n (PCA to beamline) TP n (PCA to beamline)

MKFEITS_T |oTu-|owr)t
mkFit_TT_retrain-lowpt
mkFit_TTold-lowpt

mkFit TT_NEWdefault_specPLess3-lowpt

0004
lelelele
<4

= =
= 1]
5 5]
2 =
= =
< -
2 o
=2 =2
3 ©

102k fif : it 1072kt

0103 ik, : : o
3= | ! i : =
T 1050 A HHHHTREH ] HHH 1 (HE 5]
@ T (T 1L Ml i ; o

R 1 R Rt -"}?é"‘“‘

3 93T T 0 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

=
T

0P /P,

,_.
<
L

Ratio

3
TP n (PCA to beamline)



	Contents
	Page 1


